
 

 

NKJ CSEET MARATHON TEST SERIES -3 
ECONOMICS  

AND BUSSINESS ENVIRONMENT 
(1-15 MCQs x 2 Marks = 30 Marks) 

 
(16 -35 MCQs x 1 Mark = 20 Marks)

 



 

 

 

1. “No change in the goals of the firm” is the assumption 
of which of the following laws of economics? 
 a) Law of Supply 
 b) Law of Diminishing Marginal Utility  
c) Law of Demand  
d) Law of Increasing Returns to Scale.  
 



 

 

2. From the following information, calculate elasticity of 
demand 
 Original quantity of mangoes demanded= 50 kgs  
Original price of mangoes = Rs10/ kg  
New quantity of mangoes demanded = 60kgs.  
New price of mangoes = Rs5/kg 
 a) 1.4  
b) 0.4  
c) 2.4  
d) 0.6   



 

 

 
3.In which of the following scenario, the Cross Elasticity 
between two commodities X and Y ‘will be ‘Zero’?  
a) Commodity X is nearly a perfect substitute for 
commodity Y  
b) Commodities X and Y are complementary 
 c) Commodity X and Y are not related  
d) Commodity X is superior to Commodity Y.  
 



 

 

 
4. From the following information, compute Gross National Product (GNP) according to 
the Expenditure Method  
Private Consumption Expenditure = INR 100 Crores  
Gross Domestic Private Investment = INR 80 Crores.  
Net Foreign Investment = INR 20 Crores 
 Rent = INR 60 Crores Wages = INR 100 Crores  
Mixed Income = INR 25 Crores Government Expenditure on Goods and Services= INR 70 
Crores  
a) INR 360 Crores 
 b) INR 200 Crores 
 c) INR 385 Crores  
d) INR 270 Crores 



 

 

 
5. Which of the following formula to be used for deriving 
NNP at Market Prices?  
a) GNP at Market Prices + Depreciation 
 b) GNP at Market Prices – Depreciation  
c) GNP at Factor Cost + Depreciation 
 d) GNP at Factor Cost – Depreciation.  
 
 



 

 

 
6. ___________ for flows for those transactions where 
the government merely acts as a banker.  
a) Contingency Fund  
b) Profit and Loss Account  
c) Consolidated Fund  
d) Public Account 
 
  



 

 

 
7. Loan obtained from the Reserve Bank of India (RBI) by 
the Government of India will be covered under which of 
the following?  
a) Capital Budget  
b) Revenue Budget 
 c) Cash Budget  
d) Defence Budget  
 



 

 

 
8. Which of the following organization took over the 
regulatory and administrative control of UTI from the 
Reserve Bank of India (RBI) in 1978?  
a) Small Industries Development Bank of India (SIDBI)  
b) Industrial Finance Corporation of India (IFCI)  
c) State Bank of India (SBI)  
d) Industrial Development Bank of India (IDBI) 
 



 

 

  
9. The impact of business environment may differ from 
company to company or country to country. This is 
covered under which of the following features of 
business environment?  
a) Dynamic 
 b) Uncertainty  
c) Relativity  
d) Complex 



 

 

 
10. Competition Commission of India is affiliated to 
which of the following ministries? 
 a) Ministry of Corporate Affairs  
b) Ministry of Finance 
 c) Ministry of Statistics and Programme Implementation  
d) Ministry of Law & Justice 
 
 



 

 

 
 11.The Reserve Bank of India was established on 
___________ 
(a) April 1, 1940 
(b) April 1, 1950 
(c) April 1, 1935 
(d) April 1, 1960 
 
 



 

 

 
12.Which of the following is the functions of NITI AAYOG 
(a) Design Policy &Programme Framework 
(b) Foster Cooperative Federalism 
(c) Monitoring & Evaluation 
(d) All of the above 
 
 
 



 

 

 
13. Founder of startup Zomato---- 
(a) Bhavish Agarwala 
(b) Deepender Goyal 
(c) Binny Bansal 
(d) Dharmendra Pradhan 
 
 
 



 

 

 
 
14.SATH stands for 
(a) Sustainable action for treating households 
(b) Sustainable actions for transforming human capital 
(c) Source for treating households 
(d) Sustainable actions for transforming handmade 
goods 
 



 

 

 
15.SATH selected three states for applying the two main 
projects of Health and Education, they were – Jharkhand 
, Madhya Pradesh and ___ 
(a) Rajasthan 
(b) Bihar 
(c) Orissa 
(d) None 
 



 

 

 
16.Ayushmaan Bharat is a scheme for 
(a) Health 
(b) Health Insurance 
(c) Agriculture 
(d) Child care 
 
 
 



 

 

 
17. If Exports = 2700 $ and Imports= 3200 $ then we 
have 
(a) Trade Surplus 
(b) Trade Deficit 
(c) Balanced Trade 
(d) None 
 
 



 

 

 
18.SFIO stands for 
(a) Serious fraud investigation office 
(b) Serious fraud of Indian origin 
(c) Space funding of Indian origin 
(d) None 
 
 
 



 

 

 
 
19.SEBI was founded in  
(a) April 1991 
(b) April 1990 
(c) April 1992 
(d) April 1993 
 
 



 

 

 
 
20.The functions of SEBI are  
(a) Issuers of the Securities 
(b) Protects the Interests of Traders & Investors 
(c) Financial Intermediaries 
(d) All of the above 
 
 



 

 

21.With “this” authority, SEBI can conduct hearings and 
pass ruling judgements in cases of unethical and 
fraudulent trade practices. This ensures transparency, 
fairness, accountability and reliability in the capital 
market. Here “ this “ stands for 
(a) Quasi legislative 
(b) Quasi judicial  
(c) Quasi executive 
(d) All of the above 



 

 

 
 
22. If price of x increases by 7% and demand of another 
product y decreases by 9 % then elasticity is: 
(a) 7/9 
(b) 9/7 
(c) -7/9 
(d) -9/7 
 



 

 

 
 
23.Where is the headquarter of CANARA BANK 
(a) Kolkata 
(b) Mumbai 
(c) Delhi 
(d) Bangaluru 
 
 



 

 

 
24.The Central Office of the Reserve Bank was initially 
established in Calcutta but was permanently moved to 
Mumbai in ____ 
(a) 1937 
(b) 1935 
(c) 1969 
(d) 1974 
 



 

 

 
25. if demand is perfectly elastic and then there is 
reduction in the cost of production then it would result 
in….. 
(a) increase in price and decrease in quantity 
(b) increase in quantity but price remains constant 
(c) increase in price but quantity remains constant 
(d) decrease in quantity but price remains constant 
 



 

 

 
 
26. Who is our first female finance minister 
(a) Nirmala Sitaraman 
(b) Sushma swaraj 
(c) Indira Gandhi 
(d) Meira Kumar 
 
 



 

 

 
 
27.  Sweat equity shares are given to----- 
(a) Public 
(b) existing directors 
(c) preference share holders 
(d) existing loyal & efficient employees 
 
 



 

 

 
 
28. Which is the first NBFC to be converted into a bank? 
(a) Kotak Mahindra Finance Ltd. 
(b) Muthoot Finance 
(c) Bajaj Allianz 
(d) GE Capital 
 
 



 

 

 
 
29. In September 2018, which insurance company 
launched ‘E@Secure’ a cyber insurance 
policy for individuals? 
(a) ICICI Lombard 
(b) HDFC Ergo 
(c) LIC 
(d) IFFCO Tokio 



 

 

 
 
30.In which year Mutual Fund industry started in India? 
(a) 1940 
(b) 1973 
(c) 1963 
(d) 1979S 
 
 



 

 

 
31..which of the following is correct? 
a. GDP at market price =GDP at factor cost 
b. NNP at factor cost = GNP at market price 
c. GNP at market price =NNP at market price plus net 
income from abroad 
d. none 
 
 



 

 

 
32. if real national income rises by 10 percent and 
population increases by 2 percent then the per capita 
income will increase by 
a. 5% 
b.8% 
c.12% 
d.6% 
 



 

 

 
33. NDP is GDP minus___ 
a. depreciation 
b. indirect taxes 
c. subsidies 
d. NNP 
 
 
 



 

 

 
34.the product method of calculating national income is 
also known as 
a. income method 
b.value added method 
c. expenditure method 
d. distribution method 
 
 



 

 

 
35. if the NNP figure is available at market price we will 
_____ indirect taxes and ___ subsidies to the figure to 
get the national income of the economy 
a. add, subtract 
b. subtract ,add 
c. add, add 
d. subtract ,subtract 
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1. Election Commission of India recently announced 
postal ballot rules will be applicable for voters over the 
age of _____.  
a) 65 
 b) 70  
c) 80  
d) 75 



 

 

 
 
 2. Indian railways planned to launch the 1st set of 
private trains by which year?  
a) 2025  
b) 2021  
c) 2022  
d) 2023  
 



 

 

 
3. The Consumer Protection Act (CPA), 2019 has come 
into effect from which date? 
 a) July 20, 2020  
b) July 01, 2020  
c) July 31, 2020  
d) August 15, 2020  
 
 



 

 

 
 
4. Which state will host 4th edition of Khelo India 
Youth Games (KIYG) in 2021?  
a) Assam  
b) Maharashtra  
c) Haryana  
d) Gujarat 
 



 

 

 
 
5. Who is our Defence Minister  
 a)  S Jaishankar 
 b) Rajnath Singh 
c) Amit Shah 
d)  Piyush Goyal 
 
 



 

 

 
 
6. The headquarter of WTO is at 
 a) Washington DC 
b) Los Angeles 
c) Paris 
d) Geneva 
 
 



 

 

 
 
7. Who is the writer of the Bengali play Neel Darpan? 
a) Dinabandhu Mitra 
b) Bankim Chandra  
c) Sarat Chandra 
d) Rabindranath Tagore 
 
 



 

 

 
 
8. Harauti Language is spoken in which Indian State? 
a) Assam 
b) Rajasthan 
c) Mizoram 
d) Arunachal Pradesh 
 
 



 

 

 
 
9. Who is the father of ECONOMICS 
 
a) Adam Smith 
b) Samuelson 
c) Walrus 
d) Alfred Marshall 

 



 

 

 
10. P and Q together have 3 times what Q and R have, 
while P, Q and R together have thirty rupees more 
than P. If Q has 5 times what R has then what amount 
does P have? 
a) 45 
b) 55 
c) 65 
d) 75 



 

 

 
 
11.. Which Indian spacecraft has completed 9000 orbits 
around the Moon?  

a) Chandrayaan-2  
b) Chandrayaan-1  
c) Mangalyaan    
d) None of the Above 

 



 

 

  
 
12. Which three nations have been admitted as new 
members of New Development Bank? 

a) UAE, France, Australia  
b) UAE, Bangladesh, Uruguay   
c) Pakistan, Sri Lanka, Bangladesh  
d) Canada, UK, Australia   

 



 

 

 
 
13. Dr. Firdausi Qadri was named as one of the five 
winners of the 63rd Ramon Magsaysay Awards. She 
belongs to which nation? 

a) Pakistan   
b) Bangladesh    
c) Indonesia    
d) Sri Lanka  



 

 

 
 
14. Who has become the first Indian woman to win 
gold at Paralympics?  

a) Bhavina Patel   
b) Avani Lekhara  
c) Rubina Francis   
d) Deepa Karmakar 

 



 

 

 
 
15.which country hosted the last G7 Summit 

a) Uk 
b) India 
c) France 
d) US 
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           BUSSINESS COMMUNICATION 
 
 
 
 

(1-15 MCQs x 2 Marks = 30 Marks)  

(16 -35 MCQs x 1 Mark = 20 Marks) 



 

 

 
 
1. The coming together of two or more previously 
autonomous businesses into a single undertaking.  
a) ALLOTMENT  
b) ALLEGATION  
c) AMALGAMATION  
d) AMORTISATION  



 

 

 
2. An open account balance or loan that is proved to be 
impossible to be collected.  
a) AUDIT  
b) BAIL  
c) BAD DEBT  
d) None of the above  
 



 

 

 
3. A lawsuit or action in a court.  
a) CASE LAWS  
b) CASE  
c) CAPITAL  
d) CAUSE LIST  
 
 



 

 

 
4. A term usually used in insurance to denote risks and 
dangers arising out of natural causes that are beyond 
human control.  
a) ACT OF GOD  
b) AFFIDAVIT  
c) AFFIRMATION  
d) AGENDA  



 

 

 
5. Economies of scale refers to the benefit that larger production 
volumes allow fixed costs to be spread over more units lowering 
the average unit costs and offering a competitive price and 
margin advantage. 
 a) ENCUMBRANCE 
 b) ECONOMIES OF SCALE  
c) ED  
d) EARNEST MONEY  



 

 

 
 
6. Employee Stock Option Scheme. 
 a) EOSS  
b) ESOS  
c) ESOP 
d) None of the above. 
 



 

 

 
 
7. The court’s or jury’s decision on issues of fact.  
A) FINDING  
B) FIPB  
C) FISCAL  
D) None of the above.  
 



 

 

 
8. A complaint filed against an attorney or judge, claiming 
an ethics violation. 
 a) GOODWILL  
b) GRIEVANCE  
c) GROSS PROFIT 
 d) GUARDIAN  
 



 

 

 
9. Selling goods in a market usually overseas, at a price 
well below cost, usually with an intention to ruin the 
indigenous market/competition.  
a) DUMPING  
b) DOMICILE  
c) Both (a) & (b) 
d) None of the above  



 

 

 
 
10. EBIT refers to 
 a) EARNINGS BENEFITS INTEREST AND TAXES 
 b) EARNINGS BEFORE INTEREST AND TAXES  
c) EARNINGS BEFORE INCOME AND TAXES  
d) None of the above.  
 



 

 

 
11. The Foreign Exchange Management Act, which 
replaced and is considered more liberal than FERA, the 
Foreign Exchange Regulation Act.  
a) FICCI  
b) FIDUCIARY  
c) FEMA 
 d) FIRM  



 

 

 
12. Literally “trust or belief ”. In commerce, it means 
giving goods the payment for which is to be made at a 
subsequent date.  
a) CREDIT NOTE  
b) CREDIT  
c) COVER NOTE CHAPTER  
(d) COVER 



 

 

 
13. Laws that develop through case decisions by judges. 
Not enacted by legislative bodies.  
a) COMPLAINT  
b) CONDITION  
c) CONTRACT  
d) COMMON LAW 
  



 

 

 
14. Remuneration paid to manual workers.  
a) WARRANT  
b) WAGES 
 c) WARRANTY  
d) WATCHDOG  
 
 



 

 

 
15. It is to extinguish or cancel a debt, treating it as if it 
has been paid by debiting it from the profit and loss 
account.  
(a) WRITE OFF 
 (b) WOLF  
(c) WRIT & WRIT PETITION  
(d) None of these  



 

 

16. Value Added Tax, a tax levied at specific rates on the 
selling price of goods at each stage of production and 
distribution so that only the value added at each stage is 
taxed and thereby cascading tax is avoided. 
 (a) VISA  
(b) VOUCHER  
(c) VAT  
(d) WAGES  



 

 

 
17. A certificate issued by a responsible person to an 
individual about his conduct, ability, qualifications or 
credit. 
 (a) TITLE  
(b) TORT  
(c) TESTIMONIAL  
(d) None of the above  



 

 

 
18. It is the scrip-wise netting of trades by a broker at the 
end of the trading cycle.  
(a) SET-OFF  
(b) SETTLEMENT  
(c) SHARE  
(d) SHAREHOLDER 
  



 

 

 
19. A form filled up to deposit cash or cheque in a bank. 
The account holder retains the counterfoil. For bulk users, 
they may be bound in a Pay-in- Book.  
(a) PAY-IN SLIP 
 (b) PERQUISITE  
(c) PAY-IN SLIP 
 (d) PETITION  



 

 

 
 
20. A small amount of cash kept to cover dayto-day trivial 
or miscellaneous expenses.  
a) PLACING  
b) PETTY CASH  
c) PLEA  
d) PIG  



 

 

 
21. Authority given to take some action.  
(a) LITIGANT  
(b) MANIFEST  
(c) MANDATE  
(d) None of the above. 
 
  



 

 

 
22. Trading in a company’s shares by a person connected 
with and having access to its sensitive, unpublished and 
confidential information.  
(a) INSIDER TRADING 
 (b) INSOLVENCY  
(c) INSTRUMENT 
 (d) None of the above.  



 

 

 
 
23. Reducing risk by taking a position which offsets an 
existing or anticipated exposure in financial operations. 
 (a) HYPOTHECATION  
(b) HEDGE  
(c) HABEAS CORPUS 
 (d) GUARDIAN  



 

 

 
24. GAAP stands for 
 (a) Generally Accepted Accounting Principles.  
(b) Generally Accepting Accounting Principles. 
 (c) General Accepted Accounted Principles.  
(d) None of the above 
 
  



 

 

 
25. A legal document kept in the custody of a third party, 
taking effect or made available only when some conditions 
are satisfied or some period of time has elapsed.  
(a) EX GRATIA  
(b) EPS 
 (c) ESCROW EMERGING  
(d) None of the above.  



 

 

 
26. A legal condition where a person or a business in 
which liabilities exceed the assets and the debtor is unable 
to repay amounts owed.  
(a) BANK RATE 
 (b) BANK STATEMENT 
 (c) BANKRUPTCY  
(d) BANK ACCOUNT  



 

 

 
27. A security generally in the form of fixed assets and 
offered in addition to those already furnished.  
(a) CONSORTIUM  
(b) COLLATERAL  
(c) COVER NOTE 
 (d) COSTS 
 



 

 

  
 
28. A judge's decision to end the case. 
 (a) DOMICILE  
(b) DISPOSITION  
(c) DISPOSE 
 (d) DISMISSAL 
 



 

 

 
 
 29. A formal, legal document.  
(a) INJUNCTION  
(b) INSTRUMENT  
(c) INSOLVENCY 
 (d) INDENTURE  
 



 

 

 
30. A bond that pays no interest while the investor holds it. It is sold originally 
at a substantial discount from its eventual maturity value, paying the investor 
its full face value when it comes due, with the difference between what he 
paid initially and what he finally collected representing the interest he would 
have received over the years it was held.  
(a) ZERO COUPON BOND  
(b) ZERO BOND  
(c) NO BOND 
 (d) None of these  



 

 

 
31. Document by which an advocate is authorized to 
represent a party in court.  
(a) USURY  
(b) VANILLA ISSUE 
 (c) VAKALATHNAMA  
(d) WARRANT  
 



 

 

 
32. To enter someone’s land or property without their 
permission. It is an offence which is punishable in law.  
(a) TRUSTEE  
(b) UNDERWRITER 
 (c) TRESPASS  
(d) None of the above  
 



 

 

 
33. A civil injury or wrong to someone else, or their 
property.  
(a) TITLE  
(b) TORT  
(c) TREPASS  
(d) TRAI 3 
 



 

 

 
34. A legal paper that is used to start a civil case and get 
jurisdiction over a party. 
 (a) SUMMONS 
 (b) SUO MOTU  
(c) SUBROGATION  
(d) SWAP  
 



 

 

 
35. A matter pending decision by a Court is called 
_______. Parties to such a matter should not to do 
anything that would affect the outcome of the case.  
(a) STOP TRANSFER  
(b) SUB JUDICE 
 (c) STAMP DUTY 
 (d) STATUTORY BOOKS 
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                        LEGAL APTITUDE 
 
 
 
 
 

(1- 10 MCQs x 2 Marks = 20 Marks)  
(11 -15 MCQs x 1 Mark = 05 Marks) 



 

 

 
 
 
 

1.The Indian Contract Act, 1872 is divided Into….. 
Chapters. 
 a) 3  
b) 8  
c) 10  
d) 12  



 

 

 
 
2. The Law of Contract is noting but 
 a) A child of commercial dealing  
b) A child of religion 
 c) A child of day to day politics  
d) A child of economics  
 



 

 

 
 
3. The Contract Act came into force 
 a) From 1 September, 1872 but with retrospective effect  
b) Before 1 September, 1872  
c) From 1 September, 1872  
d) After 1 September, 1872  
 



 

 

 
 
4. The Contract Act applies to  
a) Contracts made before 1 September, 1872  
b) Contracts made on 1 September, 1868  
c) Contracts made before 1 September, 1872 and to be 
enforced after 1 September, 1872  
d) Contracts made on and after 1 September, 1872  



 

 

 
 
5. An Indian mercantile law is based upon 
 a) Indian culture 
 b) British culture  
c) England law  
d) American law  
 



 

 

 
6. An agreement consists of reciprocal promises between 
at least  
a) Four parties  
b) Six parties  
c) Three parties  
d) Two parties  
 



 

 

 
 
7. Contractual rights and duties are created by  
a) State  
b) Statute Parties 
c)  Duties 
 d) Custom or Usage  
 



 

 

 
8. In India, the express provisions of the Contract Act 
applies to  
a) Hindus 
b) Mohammedan  
c) Business man  
d) All of the above  
 



 

 

 
9. Who said “Contract is an agreement creating and 
defining obligations between parties?”  
a) Peter Drucker  
b) Salmond 
c) Austin  
d) Drucker  
 



 

 

 
10. Agreement is defined in Section……… of the Indian 
Contract Act, 1872.  
a) 2(c) 
 b) 2(e) 
c) 2(g)  
d) 2(i)  
 



 

 

 
 
11.Every promise and every set of promise forming the 
consideration for each other is a/an  
a) Contract  
b) Agreement  
c) Offer 
 d) Acceptance  



 

 

 
12.Where there is no express provision in Contract Act, 
the following prevails and applied for deciding the cases  
a) The provisions of any law of the land  
b) The usage of the trade  
c) The provisions of personal law  
d) Any of the above if not inconsistent with the provisions 
of the Contract Act  



 

 

 
 
13. Who said, “Every Agreement and Promise enforceable 
at law is a contract? 
 a) Austin  
b) Benjamin  
c) Pollock  
d) balfou  



 

 

 
 
14. The provisions of Indian Contract Act override  
a) The provisions of Hindu law  
b) The provisions of Mohammedan law  
c) Usage or customs of trade  
d) All of the above  
 



 

 

 
15.A promises to deliver his watch to B and, in return, B 
promises to pay a sum of Rs 2,000. This is a/an  
a) Agreement 
 b) Proposal  
c) Acceptance 
 d) Offer  
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                     PRESENTATION SKILLS 
(1-10 MCQs x 2 Marks = 20 Marks)  
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1.. He and she .... watching a movie now.  
a. do  
b. is  
c. are  
d. were  
 



 

 

 
 
2. He didn’t wait even ….. minutes but started a lecture.  
a. few  
b. a few  
c. little  
d. a little  
 



 

 

 
 
3. He divided his property .......... his two sons.  
a. among  
b. in  
c. between 
d. in  
 



 

 

 
 
4. He has many .... .  
a. female friends  
b. females friends  
c. females’ friend  
d. female’s friend  
 



 

 

 
 
5.  He is very weak. He ….. more.  
a. can walk  
b. can be not walked  
c. cannot walk d. can’t  
 
 



 

 

 
 
 
6. He or she .... watching a movie now.  
a. is  
b. are  
c. does d. has  
 



 

 

 
 
7. He reminds us ….. Paul Walker.  
a. about  
b. of  
c. for  
d. with  
 



 

 

 
 
8. How ….. you ….. solve this puzzle?  
a. can solved  
b. can be solved 
 c. do solved  
d. can solve  
 



 

 

 
 
9. How many friends ….. she ….. ?  
a. do have  
b. does has  
c. does have  
d. are has  
 



 

 

 
 
10..How many kites ….. in the sky now ?  
a. are fly  
b. flying  
c. are flying 
 d. have  
 



 

 

 
 
11. I ..... always capital.  
a. am  
b. is  
c. has  
d. do:  
 



 

 

 
 
12 .I ….. English now. 
 a. can speak  
b. can be speak 
 c. can speaking  
d. am speak  
 



 

 

 
 
13. I ….. English online since July, 2014.  
a. am teaching  
b. have taught  
c. have been teaching  
d. teaching  
 



 

 

 
 
14 .I am also your friend. Would you invite me .......... 
your birthday celebration?  
a. on  
b. over 
 c. in  
d. for  



 

 

 
 
15. I am in .... hostel now.  
a. boy's  
b. boys's  
c. boys  
d. boys'  
 



 

 

 
 16. .I had to walk 5 km yesterday as I had ..... rupees for 
fare.  
a. few  
b. a few  
c. little  
d. a little  
 



 

 

 
 
17. .I have yet ….. options to solve this question. I never 
lose hope.  
a. few  
b. a few  
c. little  
d. a little  



 

 

 
 
18. I would not allow you to enter .......... showing me a 
pass.  
a. without  
b. for  
c. about 
 d. before  



 

 

 
19. .I ….. you yesterday.  
a. was met  
b. did met  
c. meted  
d. met  
 
 



 

 

 
 
20. .If Bianca hadn't argued, Raghubhai ….. the case.  
a. lost  
b. had lost  
c. would lose  
d. would have lost 
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                     LOGICAL REASONING 
 

(1-10 MCQs x 2 Marks = 20 Marks)  

(11 -20 MCQs x 1 Mark = 10 Marks) 



 

 

 
1. If in a certain language, SACHIN is coded as 
RZBGHM, how is ROGER coded in that code?  
a. QNFEQ  
b. QNEDQ  
c. QNFFQ  
d. QNFDQ  
 



 

 

 
2. UV, QR, MN, IJ __________. What is next in the 
series?  
a. EF  
b. AC  
c. GK  
d. DC 
 



 

 

 
3. In a code language, A is written as B, B is written as C, 
C is written as D and so on, then how will JACK be 
written in that code language ?  
a. KBDL  
b. BKDL  
c. LDBK  
d. BDLK  



 

 

 
4. In a certain code, TOPPER is written as 613382 and 
LAST is written as 7496. How is LAPTOP written in that 
code?  
a. 316347  
b. 743613  
c. 163473  
d. 613473 



 

 

 
5. If Keyboard is called Sky, water is called Sun, air is 
called Pencil, cloud is called sky, sky is called Earth, sea is 
called Mercury, where do the aeroplanes fly?  
a. Sky  
b. Sun  
c. Pencil  
d. Earth 



 

 

 
 
6. What was the day on 15th august 1947 ?.  

(a) Friday  
(b) Saturday  
(c) Sunday  
(d) Thursday  
 
 



 

 

 
 
7.  Today is Monday. After 61 days, it will be : 

(e) Tuesday  
(f) Monday  
(g) Sunday  
(h) Saturday  
 

 



 

 

 
8. Aarav's birthday is on Sunday, 12th March . On 
what day of the week will be Madhup's Birthday in the 
same year if Madhup was born on 10th August? 

(i) Thursday  
(j) Wednesday 
(k) Friday  
(l) Saturday 
 



 

 

9.  Aarush's birthday is on Thursday 27th April. On 
what day of the week will be Mitul's Birthday in 
the same year if Mitul was born on 28th 
September? 

a. Monday  
b. Thursday 
c. Wednesday  
d. Tuesday 

 



 

 

10. Statements:  
I.  Many people refer to shop at the big retail chains than the local 
grocery stores.  
II. Retail chains offer a discount of more than 25% as compared to local 
grocery shops. 

a. Statement I is the cause and statement II is its effect. 
b. Statement II is the cause and statement I is its effect. 
c. Both the statements I and II are independent causes. 
d. Both the statements I and II are effects of independent causes. 
e. Both the statements I and II are effects of some common cause. 



 

 

11. Statements:  
i. Around 60% of the computer and software professionals of Country X 

wish to pursue ethical hacking.  
ii. The IT companies in three of the neighbouring countries of Country X 

recently faced an attack of â€˜Hacker Viruses€™ in many of their 
systems. 

(a) Statement I is the cause and statement II is its effect. 
(b) Statement II is the cause and statement I is its effect. 
(c) Both the statements I and II are independent causes. 
(d) Both the statements I and II are effects of independent causes. 
(e) Both the statements I and II are effects of some common cause. 



 

 

 

 

 

12. Statements: 
iii. Standard of living among the middle class society is constantly going up since part of 

few years. 
iv. Indian Economy is observing remarkable growth. 

(a) Statement I is the cause and statement II is its effect. 
(b) Statement II is the cause and statement I is its effect. 
(c) Both the statements I and II are independent causes. 
(d) Both the statements I and II are effects of independent causes. 
(e) Both the statements I and II are effects of some common cause. 



 

 

 

13. Statements: 
Statement I: Facebook has prohibited advertisements that promote financial services that are 
associated with misleading or deceptive promotional practices, naming cryptocurrencies and 
initial coin offering. 
Statement II: Facebook gradually added support for students at various other universities, and 
eventually to high school students. 
(a) Statement I is the cause and statement II is its effect. 
(b) Statement II is the cause and statement I is its effect. 
(c) Both the statements I and II are independent causes. 
(d) Both the statements I and II are effects of independent causes. 
(e) Both the statements I and II are effects of some common cause. 



 

 

 

14. Statements: 
I. More than two billion pounds of chemicals are spewed in the air everyday by 
industries and vehicles of some countries. 
II. International pollution control organization is expected to penalize the 
countries which cross the maximum emission limits. 

a. Statement I is the cause and statement II is its effect. 
b. Statement II is the cause and statement I is its effect. 
c. Both the statements I and II are independent causes. 
d. Both the statements I and II are effects of independent causes. 
e. Both the statements I and II are effects of some common cause. 



 

 

 
15.If in a certain code, ‘DAUGHTER’ is written as 
‘TERDAUGH’, how will ‘APTITUDE’ be written in 
that code? 

(a) DEUAPTIT  
(b) UDEAPTIT 
(c) DUEAPTIT  
(d) DAUEPTIT 

 



 

 

16. In a certain code, ‘TERMINAL’ is written as 
‘NSFUMBOJ’ and ‘TOWERS’ is written as 
‘XPUTSF’. How is ‘MATE’ written in that same 
code?  
(a) FUBN  
(b) UFNB 
(c) BNFU  
(d) BNDS 
(e) None of these 



 

 

 
17. 165135 is to ‘peace’ as 1215225 is to  
(a) lead  
(b) love 
(c) loop  
(d) aura 

 
 



 

 

 
18.If PARK is coded as 5394, SHIRT is coded as 
17698 and PANDIT is coded as 532068, how would 
you code NISHAR in that code language? 
(a) 266734  
(b) 231954 
(c) 201739  
(d) 261739 

 



 

 

 
 
19.If ‘SYNDICATE’ is written as ‘SYTENDCAI’, 
then how can ‘PSYCHOTIC’ be written? 
(a) PSYICTCOH  
(b) PSYCOHTCI 
(c) PSICYOCTH  
(d) PSICYCOTH 

 



 

 

 
20.   3 8 13 18 23 28 33 
(a) 39 44 
(b) 38 44 
(c) 38 43 
(d) 37 42 
(e) 33 38 

 



 

 

 
 
 
 
 
 
 
 



 

 

 
 
 
 
 
 
 
 



 

 

 
                ECONOMICS  AND BUSSINESS ENVIRONMENT 
 
 
 

1 C 2 B 3 C 4 D 5 B 

6 D 7 A 8 A 9 A 10 A 

11 C 12 D 13 B 14 B 15 C 

16 B 17 B 18 A 19 C 20 D 



 

 

21 B 22 D 23 D 24 A 25 B 

26 C 27 B 28 A 29 B 30 C 

31 D 32 B 33 A 34 B 35 B 

 
 
 
 
 
 
 
 



 

 

                        CURRENT AFFAIRS 
 

1 C 2 B 3 A 4 C 5 B 

6 A 7 A 8 B 9 A 10 C 

11 B 12 B 13 B 14 B 15 A 

 
 
 
 
 
 



 

 

                               

                       BUSSINESS.COMMUNICATION  
 
 
 

1 C 2 A 3 A 4 B 5 B 

6 C 7 A 8 B 9 C 10 B 

11 C 12 A 13 D 14 C 15 A 

16 C 17 C 18 B 19 A 20 B 



 

 

21 C 22 A 23 B 24 A 25 C 

26 C 27 B 28 D 29 B 30 A 

31 C 32 C 33 B 34 A 35 B 

 
 
 
 
 
 
 
 
 



 

 

 

                           LEGAL APTITUD 
 

1 C 2 A 3 C 4 D 5 C 

6 D 7 C 8 D 9 B 10 B 

11 B 12 D 13 C 14 D 15 A 

 
 
 
 
 



 

 

  

                              PRESENTATION SKILLS 
 

1 C 2 A 3 C 4 A 5 C 

6 A 7 B 8 D 9 C 10 C 

11 B 12 A 13 C 14 C 15 D 

16 A 17 B 18 A 19 D 20 D 

 
 



 

 

 

                                   LOGICAL REASONING 
 

1 D 2 A 3 A 4 B 5 D 

6 A 7 D 8 A 9 B 10 B 

11 B 12 A 13 D 14 A 15 B 

16 C 17 B 18 D 19 D 20 C 

 



 

 

 

    Thank you  



Filename: CSEET TEST SERIES - 3 
Directory: C:\Users\NKJ\Documents 
Template: C:\Users\NKJ\AppData\Roaming\Microsoft\Templates\Normal.dotm 
Title:  
Subject:  
Author: Sam 
Keywords:  
Comments:  
Creation Date: 10/19/2021 11:14:00 AM 
Change Number: 362 
Last Saved On: 10/21/2021 11:45:00 AM 
Last Saved By: NKJ 
Total Editing Time: 857 Minutes 
Last Printed On: 10/21/2021 11:45:00 AM 
As of Last Complete Printing 
 Number of Pages: 157 
 Number of Words: 3,827 (approx.) 
 Number of Characters: 21,820 (approx.) 

 


